EARAROBEEIERT — 2 N— IBISH —F

201459898 (X&) 12[@£7R3H

mjll*}fi‘ LHMEEFIA—2 A2 ¥5%—M (xwlw | lmEmml - |5 @) o 8
[A&4£] 1 7 :500,000 3 ~ 23#&:100,000  ~ 33#&:45000H ~ 43#%:35,0008” . 5 3&:20,000 ™
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—e EMESH :29. —-3-3- . — 1R (29R)
O B4 Ea 1(2_9)3 3-3-3-2 | 38.1 2 35) ot
RixLTHXANAN BeANFv T g— BRI EKKE
SRS N HEEB : —1-1- = £H—8 (&R
9 6 SUHLAF T 5 e 1.(%0).3 1-1-1-1 | 39.4 1 (4+322) i )
R:Z24—1)>70-X B:7>ROX4 A AK
N FREA : —7-8- — £H—E8 (£R)
3 3| ZH B4R # 5 | =R (12310/2% 8-7-8-6 | 38.1 6 ;139) o
Z:Nd BiXA a4 ML Pail:: I P S
- X BER : oo _ BEH= (&R
41717 LT XA4T7 > 5 54_0? (17'35?3) zes | B0 ° (izi) HlE ’
AR WY —T BN—TNF—T BRKS
—iae HHRE :31. —3-4- . - 1R (29R)
s|gs| TT7¥¥ Ak B T R A T e
R h—> BNLAILZI e 77— L4
P = RHE : —6-5- - SHEE (2R
6189 wLTUT1 h=7 5 © 54.05.? 1('33/14')2 6655 %93 ° (4:; aOES )
L:TFAT7LRe14 L B:TURT 1> TS
.= N BEEEAA :31. ~5-6- . — 2XE (2R
d : NSRSV BTES o) A ) f; EEAlE
RXLTATEAY BATHREIV 2 R i
S 3 o MAHIES] :31. —8-7- . - SIS (£R)
8/5|5 HyIFT by 7T C 54.0 (1735:75) AR ° (44_735) glf—ﬁlIE‘/k ’
L—FATO— BHITT—FT1Xb AF A4S
e . o Bt :32. -9-9- . — SEEE (2R
9 2 NRTFRT7 XA v R N * 4 54.0E (12312/20) 9-9-9-9 3.9 8 :_774) ;}:}Hﬁ]fg
LT RN=ho b= B:TIA74T7I4 HE
R # o8 | TBBA 1:32.3  [10-10-10-10( 38.4 | — | 10 | 469 |RAZ (&)
10/8[10| YXFavy> 56.0 1 1/2) L) |EAEET
Rib—>NTy K B7EY¥s0OX v A IT—L
® 1—F—@EBIERL
13l=3F= 6,7,(1,8),4,(5,9),3,2,10
20—F— 6,7,(1,8),4,9,3,5,2,10
== 6,7,1,8,9,4,5,3,2,10
40 —F— 6,1,7,8,9,(3,4),5,2,10
[ N5
B 1 420/ 714K 1-6 150 B 1-6 430 JEE 1-3-6 1,590
B B 1 140M =3 790M e B 1-6 950M EE 1-6-3 8,870
6 110M 3-6 450/ B E 1-6 330
3 270M B HE 1-6 1,270

ABICOVWTRDTEEERROODE. TR LIV,




